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Question Number : 1 Question Id : 6154756745 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Identify those features of learner behaviour which are associated with understanding level

teaching :

(a) The student renders facts and information 1n his‘her own words

(b) The student 1immediately recalls the facts taught

(c) The student gives his / her own examples 1n order to explain a point

(d) The student interprets the meanings In various wavs

(e) The student correctly reproduces the sequence taught

Select vour answer from the following options :

(1) {a). (b) and (c) (2) (b). (c) and (d)
(3) (b). (d) and (e) (4) (a) (c) and (d)
Options:

E1547526201. 1
B1547526202. 2
61547526203, 3
61547526304, 4

Question Number : 1 Question Id : 6154756745 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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E15475262302. 2
61547526203, 3
51547526204, 4

Question Number : 2 Question Id : 6154756746 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Which of the following sequence depicts outcome based curriculum design for college level
teaching programmes?

(1) Content, teaching-learning, learning outcomes, evaluation

(2) Desired learning outcomes, content, teaching-learning, assessment and evaluation

(3) Teaching-learning, content. learning outcomes. assessment and evaluation

(4) Content. learning outcomes desired. teaching-learning, evaluation and assesament
Options:

61547526205, 1
E1547526306. 2
E154752E8307. 3
E1547526208. 4

Question Number : 2 Question Id : 6154756746 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547526205, 1
61547526306, 2
61547526307, 2
61547526208 4

Question Number : 3 Question Id : 6154756747 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following 1s a key to effective teaching behaviour?

(1) Teacher mediated dialogue which helps learners restructure what 1s being learned

(2) Ehcting clarification of an answer given by students

(3) Soliciting additional information about a response of students

(4) Promoting low error rate (high success) contrbutive to increased levels of students’

self esteem and positive attitude

Options:

61547526209, 1
615475262310 2
61547526311, 2
61547526212 4

Question Number : 3 Question Id : 6154756747 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

£1547526209. 1
615475262100 2
61547526211,
61547526312 4

Question Number : 4 Question Id : 6154756748 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

For encouraging ‘learning to learn’. the emphasis on which of the following would be most
appropriate?

(1) Use of educational technology gadgets

(2) Organizing teaching to increase opportunity for transfer of learning

(3) Assigning tasks to be mastered by students

(4) Frequent tests to be conduted

Options:
615475262131
61547526314 2



E1547526215. 3
B1547526216. 4

Question Number : 4 Question Id : 6154756748 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

61547526213, 1
61547526314 2
61547526215 2
61547526216 4

Question Number : 5 Question Id : 6154756749 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

In which of the following modes of assessment the potential for increasing intrinsic

motivation 1s optimum?

(1) Formative assessment based evaluation

(2) Computer testing based assessment

(3) Summative assessment

(4) Norm-referenced based testing assessment
Options:

BE154752E8217. 1
E1547526218. 2
B1547526215. 3
B15475262320. 4

Question Number : 5 Question Id : 6154756749 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

15475262171
E154752E8218. 2
61547526219,
61547526320 4

Question Number : 6 Question Id : 6154756750 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In which of the following research methods, an empirico-inductive paradigm 1s employed?

(a) Ethnographic probe
(b) Case study method
(c) Ex post facto method
(d) Narrative method

(e) Experimental method

Select your answer from the options given below :

(1)  (a). (b) and (c)
(2) (b). (¢) and (d)
(3) (a). (b) and (d)
(4) (c). (d) and (e)

Options:

61547526321, 1
1547526322 2
E154752E8222. 2
15475262324, 4

Question Number : 6 Question Id : 6154756750 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



s & o T g fafeet © sAafaF—sTrTeATS wiaaE # SE f sme R
(a)  TAMMA FEH AT

(b) =T FATER H=Y

(c) ﬁﬂﬁhﬂfﬁﬁh

(d)  FAAE G

(e) AR Taiy

e fow o faseat o @ @A I g

(1) (a). (b) 37 (©)
(2)  (b). (c) 37 (d)
(3) (). (b) 37 (d)

(4) (c). (d) #T (e)
Options:
615475263211
61547526322 2
E15475265323. 2
615475265324 4

Question Number : 7 Question Id : 6154756751 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The probability sampling procedures are mostly used in which of the following researches?

(a) Survey researches

(b) Experimental researches

(c) Phenomenology based researches

(d) Action researches

(e) Correlational design based researches

Select vour answer from the follwoing options :

(1)  (a). (b) and (e)
(2)  (a). (b) and (c)
(3) (b). (c) and (d)
(4) (c). (d) and (e)

Options:

61547526325, 1
1547526326 2
E154752E8227. 2
61547526228, 4

Question Number : 7 Question Id : 6154756751 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547526325, 1
61547526326 2
E1S547526327. 2
E154752E8228. 4

Question Number : 8 Question Id : 6154756752 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The style of writing a thesis and research article has to be

(1) Creative 1n so far as diction 1= concerned

(2) Scientific in respect of language used

(3) Mechanical in so far as placement of fizures and tables 1s concerned
(4) Vamable in respect of referencing
Options:

BE154752E82329. 1
B1547526230. 2
BE1547526221. 3
B1547526233%. 4

Question Number : 8 Question Id : 6154756752 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547526229, 1
61547526320 2
61547526331 2
61547526332 4

Question Number : 9 Question Id : 6154756753 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The application of which of the following ICT in research will ensure wider coverage and

accessibility of needed information?

(1) LAN (2) WAN
(3) Skype (4) Intranet
Options:

B1547526233. 1
B1547526234. 2
61547526335 3
61547526356, 4

Question Number : 9 Question Id : 6154756753 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

B1547526233. 1
B1547526234. 2
61547526335 3
E1547526336. 4



Question Number : 10 Question Id : 6154756754 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A researcher while reporting his /her research findings gives weightage to stake holder’s
perspective 1n a qualitative research theme. This will involve

(1) Violation of ethical norms

(2) Bias and prejudices

(3 Disclosure of reality situation
(4) Inappropriate interference of others in research
Options:

615475262337, 1
61547526338, 2
61547526339, 3
E15475262340. 4

Question Number : 10 Question Id : 6154756754 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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E1547526337. 1
E154752E8338. 2
E15475262339. 3
B1547526240. 4

Question Number : 11 Question Id : 6154756755 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In the hinear model of communication. the expected result 1z

(1) Psvchological disruption (2) Removal of physical noise
(3) High level of obstruction (4) Semantic accuracy
Options:

BE15475262341. 1
B15475262342 2
B1547526243. 3
61547526344, 4

Question Number : 11 Question Id : 6154756755 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

B1547526241. 1
B15475262342 2
61547526343, 3
61547526344, 4

Question Number : 12 Question Id : 6154756756 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

An important element in classroom communication is

(1) Physical infrastructure {2) Fields of experience
(3) Conditioned feedback {4) Linearity of Message
Options:

E15475268345. 1
E1547526346. 2
B15475262347. 3
61547526248, 4

Question Number : 12 Question Id : 6154756756 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

E15475262345. 1
E15475262346. 2
B15475262347. 3
615475262348, 4

Question Number : 13 Question Id : 6154756757 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The concept of proximal development. related to educational communication. was developed
by

(1) Sigmund Freud (2) EKurt Lewin
(3) Lev Vygotsky (4) Alberk Bandura

Options:



BE154752623459. 1
615475262350, 2
615475262351, 3
61547526352, 4

Question Number : 13 Question Id : 6154756757 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

6154752624591
61547526350, 2
61547526351, 3
E154752E8352. 4

Question Number : 14 Question Id : 6154756758 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Effective oral communication demands

(a) Self-confidence

(b) Long pauses

(c) Consistent practice

(d) Business like approach
(e) Enowing the audience

(£) Aggresaive questioning

Choose the correct answer from the following option :

(1) (b). (c) and (d) (2) (c). (d) and ()
(3) (d). (e) and (D (4) (a). (c) and (e)
Options:

61547526353, 1
E154752E8354. 2
E1547526355. 3
B1547526356. 4

Question Number : 14 Question Id : 6154756758 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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E15475283535.

E15475262354.
61547526355,
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Question Number : 15 Question Id : 6154756759 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Given below are two statements - one is labelled as Assertion (A) and the other 1s labelled as

Reaszon (R):

Asszertion (A) : The spoken and written words are two media of many available for
communication in the classroom

Reason (R) : Communication through any medium does not happen through attitudes of

encoders

In the hight of the above two statements choose the correct option from the choices given

below:

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are true. and (R) 1s not the correct explantion of (A)
(3 (A) 1s true, but (R) 1s false

(4) (A) 1s false. but (R) 1s true

Options:



BE1547526357. 1
615475262358, 2
615475262359, 3
E1547526360. 4

Question Number : 15 Question Id : 6154756759 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

61547526357, 1
61547526358 2
E154752E6259 2
15475262360, 4

Question Number : 16 Question Id : 6154756760 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



If A 1z directly proportional to B: B 1z inverszely proportional to C and C 1s directly
proportional to D. then

(a) A 1s inversely proportional to D

(b) A 1s directly proportional to D

(c) A 1s directly proportional to C

(d) A 1z inversely proportional to C

Choose the correct answer from the options given below:

(1) (a) and (d)
(2) (b) only
(3) (a) only

(4) (c) and (d)

Options:

61547526261, 1
61547526362 2
61547526363 o
61547526364 4

Question Number : 16 Question Id : 6154756760 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

1547526361, 1
E154752E262. 2
61547526262 5
61547526364, 4

Question Number : 17 Question Id : 6154756761 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Average of two numbers a and b 13 22 and 60% of a = 50% of b. What 1s the product of
aand b ?

(1) 160 (2) o84
(3) 480 (4) 484
Options:

61547526365, 1
61547526366, 2
E1547528367. 3
E1547526260. 4

Question Number : 17 Question Id : 6154756761 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) 160 (2) 384
(3) 450 (4 434
Options:

E154752E8365. 1
E1547526366. 2
B1547526367. 3
61547526268, 4

Question Number : 18 Question Id : 6154756762 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

B 15 the only daughter of maternal erandmother of A. How 15 A related to B?

(1) Sister (2) Daughter
(3) Cousin (4) DMother
Options:

BE1547526369. 1
B15475262370. 2
B15475262371. 3
E1547526372. 4

Question Number : 18 Question Id : 6154756762 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

BE1547526269. 1
B15475262370. 2
G1547526371. 3
E1547526372. 4

Question Number : 19 Question Id : 6154756763 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In a certain code "CREDIT" 12 written as "EPGBEKR" and in the same code. "DEBIT" will be
written as

(1) FDCGV (Z2) TFGCDV
(3) FCDGV (49) FCDVG



Options:

61547526373, 1
1547526374 2
E154752E275 2
1547526376, 4

Question Number : 19 Question Id : 6154756763 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

et fifvsa %2 @ “CREDIT", #1 “EPGBKR” % =9 § fom@ 5man 21 =4 %2 4, “DEBIT” =i 5 =q

T ey =
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(3) FCDGV (4) FCDVG
Options:

6154752623731
61547526374, 2
61547526375, 3
E1547526376. 4

Question Number : 20 Question Id : 6154756764 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The next term of the series 1s

1D3. sH5. aL7. :

(1) P9 (2) TRH9
(3) TN 4 7L9
Options:

E1547526377. 1
61547526378, 2
E15475262379. 3
E1547526280. 4

Question Number : 20 Question Id : 6154756764 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E1547526377. 1



B15475262378. 2
B15475262375. 3
61547526280, 4

Question Number : 21 Question Id : 6154756765 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
The attributes shared by all and only those objects to which a term refers 1s known as

(a) The intention of a term
(b) Connotation

(c) Denotation

(d) The extension of a term

Choose the correct code from below:

(1) (d) only (2) Both (a) and (b)
(3) Both (c) and (d) (4) (c) only
Options:

61547526381, 1
E1547526382. 2
BE15475262383. 3
B1547526284. 4

Question Number : 21 Question Id : 6154756765 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

BE1547526281. 1
B1547526382. 2
E1547526383. 3
61547526384, 4



Question Number : 22 Question Id : 6154756766 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

According to traditional square of opposition if two propositions are so related that they
cannot both be false, although they may both be true 1s called:

(1) Sub altern (2) Sub contraries
(3) Contradictory (4) Contrary
Options:

E1547526385. 1
E15475262386. 2
B15475262387. 3
G1547526388. 4

Question Number : 22 Question Id : 6154756766 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
TP Sy @ % FEE 902 21 fasieEl 38 TR H Hetad 7 " 261 39T 99 5 ghdl 2 9w d

(1)  37tEE (2) wu-fagim
(3)  TemramwE (4) Taufa
Options:

B15475262385. 1
B15475262386. 2
G1547526387. 3
61547526388, 4

Question Number : 23 Question Id : 6154756767 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

An informed fallacy in which the conclusion of an argument 1s stated or assumed 1n any one
of the premises 1s known as:

(a) Begging the question
(h) Circular argument
(c) Isnoratio elenchi

(d) Petitio principii

Choose the correct option from the following:

(1) (a). (b) and (d) (2) (a) and (c)
(3) (c) only (4) (b). (c) and (d)
Options:

61547526289, 1
615475263390, 2
615475263391, 3
E154752E8352. 4



Question Number : 23 Question Id : 6154756767 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
UF UHT AR aar, T9EH A HURY R PREl U S9R G 3 YR B AW o W B,
fAeATTha W o TReehl g ST ST B
(a) HTHTATTT
(b)  HFTR FAFFIHZ
(c) AR TAAHTE

(d)  ATHHEEN

fr=fefaa 9 9 92 faweg =1 =21 Fifao

(1) (a). (b) 741 (d) (2) (a)d4 (o)

(3) a4 (c) (4)  (b). (c) 747 (d)
Options:

61547526289, 1
615475263390, 2
615475263391, 3
E154752E8352. 4

Question Number : 24 Question Id : 6154756768 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following 1s not correct with reference to anumana according to classical Indian
school of logic?

(1) Linga/Sadhana 1s the middle term (2) Paksa 1s the minor term

(3) Sadhya 1s the major term (4) Hetu 1s the minor term

Options:

61547526293, 1
61547526394 2
61547526395 2
61547526396 4

Question Number : 24 Question Id : 6154756768 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

A I TR T WO % SEN, A % G2l H a9 H R H wE aE A v

(1) o /aes e 0g 2 (2) wE T A UE 2
(3) WTI TH UH@ R R 4 FTFHFAMEEE
Options:

6154752623593, 1



E15475262394. 2
61547526385, 3
B15475263596. 4

Question Number : 25 Question Id : 6154756769 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Given below are two premises with four conclusions drawn from them. Which of the following
1s valid conclusion drawn from the premises?

Premises :
(1)  All diaries are coples
(1) No copy 1s book

Conclusions :
(a) Some diaries are books (b) Some books are coples
(¢) No book 1s copy (d) No diary 1s book

Choose the correct option :

(1) (a) and (b)
(2) (c) and (d)

(3) (b) and (c)

(4) (a) and (d)
Options:
61547526397, 1
61547526398, 2
61547526399, 3
61547526400, 4

Question Number : 25 Question Id : 6154756769 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) (a) 747 (b)
(2) (c) 74T (d)
(3) (b) 74T (c)
(4) (a) 941 (d)
Options:
15475263971
1547526398 2

61547526399, 3
E1547526400. 4

Sub-Section Number: 2
Sub-Section 1d: 615475301
Question Shuffling Allowed : Yes

Question Id : 6154756770 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (26 to 30)
Cesticn Label | Comprehension

Consider the table given below for total exports of six countries over five years (1n crores of
rupees) and answer the questions 26-30:

'\\Year 2008 | 2009 | 2010 | 2011 | 2012

Gounﬁ@*ﬂ
A 20 40 60 45 90
B 30 25 15 50 100
C 50 55 70 20 65
D 45 60 20 15 25
E 60 50 348 100 110
F 24 40 60 TS 120

Aszume : profit = Export — Import.

Sub questions



Question Number : 26 Question Id : 6154756771 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

What was the profit of all the countries together in the vear 2012 if the total imports of all
the countries together was rupees 385 crore?

(1) Rupees 510 crore (2) Rupees 250 crore
(3) Rupees 160 crore (4) Rupees 125 crore
Options:

E1547526401. 1
B1547526402. 2
61547526403, 3
61547526404, 4

Question Number : 27 Question Id : 6154756772 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
If the ratio of export to import 1n country F and country D are 4 : 1 and 1 : 2 respectively in
the year 2008, then what 1s the total import of country F and D together in that particular
yvear? (in crores of rupees)

(1) 14 (2) 65
(3) 92 (4) 96
Options:

61547526405, 1
E1547526406. 2
E1547526407. 3
61547526408, 4

Question Number : 28 Question Id : 6154756773 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

If the export of country A in the yvear 2013 1s 20% more than the total export of country B in
2011 and the export of country E 1n 2010 together, then what was the profit of A in the year
2013 1f 1ts import was Rupees 92 crore for that yvear? (In crores of rupees)

(1) 10 (2) 22
(3) 34 (4) 46
Options:

61547526405, 1
61547526410, 2
61547526411, 3
E15475264172. 4

Question Number : 29 Question Id : 6154756774 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



By what precent 1= the average export of country E over all the given vears more than the
average export of country C over all the yvears?

7 7
1) 131 9) 1419
3 ¢ T
(3) 13%% (4) 14%%

Options:

61547526413, 1
61547526414 2
61547526415 =2
61547526416 4

Question Number : 30 Question Id : 6154756775 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

What 1s the percentage increase in the export of all the countres together from the year
2009 to 20117

(1) 35%% (2) 38%%
(3) 40%% (4) 38% %

Options:

615475264171
61547526418 2
61547526419 2
61547526420 4

Question Id : 6154756770 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (26 to 30)
Juestion Label - Comprehension

9T A9 SR B 2 % T FAE (FE 5. ") F A= § o arferm W B A SR e 26 5 30
EiaE

EE 2008 | 2009 | 2010 | 2011 | 2012

;'JI'.'-'—[

A 20 | 40 | 60 | 45 | 90

B 30 25 15 50 100

C 50 55 70 | 90 65

D 45 60 20 15 25

E 60 50 35 100 110

F 24 40 60 75 120

o =190 @8 = A — A



Sub questions

Question Number : 26 Question Id : 6154756771 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A 2012 = i 20 1 e HerE ha W R 91 s w29 1 Fer A 385 WS A17
(1) 5103 %, (2) 280 FTE.

(3) 160 Fs 7. (4) 125 F3 %,
Options:

61547526401, 1
E1547526402. 2
B1547526403. 3
61547526404, 4

Question Number : 27 Question Id : 6154756772 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
gz ad 2008 AN F AR S D H 29709 SHId %A% 4 : | s 1 : 22 Al sHiad gy F e D

[

H 44 (2) 6
3 92 (4) 96

Options:

61547526405, 1
61547526406, 2
61547526407 2
E154752E6408. 4

Question Number : 28 Question Id : 6154756773 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Ifz @9 2013 4 23 A %1 3= 29 B %1 2011 ¥ 3% 27 E %1 2010 § U 70 Fer @ ° 20 viae
AT 2 a1 A 1 2013 H Pl a1 @9 A1 IS SHRT 39 99 ATE 92 HS T, AT7

(1) 10 () 22
(3) 34 (4) 46
Options:

61547526409 1
61547526410, 2
61547526411, 3
B1547526412. 4

Question Number : 29 Question Id : 6154756774 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



= A9 = 20 29 E 1 S e 2 C % s i (39 990 SE) ° e st 2 e

7

(1 13-

= 1

3) 132%
7

Options:

61547526413 1
61547526414 2
61547526415 5
61547526416 4

Question Number : 30 Question Id : 6154756775 Question Type: MCQ Option Shuffling : No Display Question Number

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

7
9 14-L¢
) T
(4) 14%%

9 2009 F 2011 7 Tl T F AAE H Fe AR et g

(1) 35%%
(3) 4D§%

Options:

61547526417, 1
61547526418 2
E1547526419 2
61547526420, 4

Sub-Section Number:
Sub-Section 1d:
Question Shuffling Allowed :

Question Number : 31 Question Id : 6154756776 Question Type: MCQ Option Shuffling: No Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

represents raw facts, whereas

g 58 &7
@ 33%%
(4) 38% %

3
615475302
Yes

(1) Information. Bits
(3) Data. Information

Options:

61547526421, 1
61547526422 2
61547526423 o
61547526424 4

(2) Records. Bytes
(4) Information, Reporting

1s processed meaningful data.

Yes

Yes



Question Number : 31 Question Id : 6154756776 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

AT 929 & Falw Tfea 3790 ATRST 7
(1) 3=, foed (2) Towiza, sE2E
(3) =@, GEAl (4) T=, Toanten

Options:

61547526421, 1
61547526422 2
61547526423 2
61547526424 4

Question Number : 32 Question Id : 6154756777 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following storage devices stores maximum amount of data?

(1) Compact disc (2) Floppy disc
(3 Hard disc (4) Magnetic optic disc
Options:

615475264251
E154752642E. 2
E1547526427. 3
BE1547526428. 4

Question Number : 32 Question Id : 6154756777 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Frtefiaa 9 9 F=-H Gu=v A FETEE AR UEE il B 7

(1) =i o0 (2) e 2T
(3) = zE= (4) Huafzw s1ifes 20
Options:

61547526425 1
E1547526426. 2
B1547526427. 3
B1547526428. 4

Question Number : 33 Question Id : 6154756778 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Which of the following 1s a computer based system that stores and manipulates data which
are viewed from a geographical point or reference?

(1) Database System (2) Geographical Information System
(3) Geographic Syatem (4) Software System
Options:

61547526429 1
61547526430, 2
E1547526421. 3
BE1547526432. 4

Question Number : 33 Question Id : 6154756778 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

frtatEd % 3 FHA-H1 UF FEgZ ARG IO 2 7 39 ATRS] i GulEd w4l 7 AR T Asars Fwdl
%! E; "';‘: i:l: -r-lx :'; EiEq‘-—ui -j':[aa-[ ]:i -a.ﬁiq'_) j_E‘ q-r EII -:::! -J;ii J] ;I % .;'

(1)  =reEy ey (2) Hiifers geaT ToTE
(3)  HITeT womed (4) ETFEEE s
Options:

61547526429 1
61547526430, 2
E1547526421. 3
BE1547526432. 4

Question Number : 34 Question Id : 6154756779 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

VDU stands for

(1) Virtual Display Unit {(Z) Virtual Detection Unit
{3) Visual Display Unit {(4) Visual Detection Unit
Options:

61547526433 1
61547526434, 2
61547526435 3
61547526436, 4

Question Number : 34 Question Id : 6154756779 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



VDU f=fetfiga 1 4 foraer dfem am 27
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Options:

61547526433, 1
61547526434 2
61547526435 2
61547526426, 4

Question Number : 35 Question Id : 6154756780 Question Type: MCQ Option Shuffling: No Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

International Computer Security Day 1s observed on

(1) 18% July (2y 30™ November
(3) 28d December (4) 23" December
Options:

61547526437, 1
61547526438, 2
E1547526439. 3
E1547526440. 4

Question Number : 35 Question Id : 6154756780 Question Type: MCQ Option Shuffling: No Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

1) 18 F=E (2) 30 TR
3) 2 famm (4) 23 fgE=
Options:

E1547526437. 1
E1547526438. 2
B1547526435. 3
61547526440, 4

Question Number : 36 Question Id : 6154756781 Question Type: MCQ Option Shuffling: No Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

Yes

Yes

Yes



Given below are two statements — one labelled as Assertion (A) and the other i1s labelled as

Eeason (R).
Assertion (A):  The impact of natural disasters does not depend on socio-economic factors.
Reason (R) : Natural disasters do not discriminate between people of a society and

other communities.

In the light of the above two statements, choose the correct option :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are true and (R) 1s not the correct explanation of (A)
(3) (A) 1s true but (R) 1s false

(4) (A) 1= false but (R) 1s true

Options:

£1547526441. 1
61547526442 2
61547526442 o
61547526444 4

Question Number : 36 Question Id : 6154756781 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:



BE1547526441. 1
B1547526442 2
61547526443 3
61547526444, 4

Question Number : 37 Question Id : 6154756782 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Under Kyoto Protocol. the first committment period for reduction of greenhouse gas
emissions by 37 industrialized and European community countries was :

(1) 1997 — 2005 (2) 2000-2012
(3) 2008 — 2012 (4) 2005-2015
Options:

61547526445 1
61547526446, 2
61547526447, 3
E1547526445. 4

Question Number : 37 Question Id : 6154756782 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
FATE TIEHRIe & Aad 37 ARG dT FEE THEE + 99 g #hd TE 1H Soaed & form gem
TiaEgT A F4 o7 7

(1) 1997 — 2005 (2) 2000-—2012
(3) 2008 — 2012 (4) 2005-2015
Options:

E1547526445. 1
E154752644E. 2
B1547526447. 3
61547526448, 4

Question Number : 38 Question Id : 6154756783 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



Exposure to noise pollultion can cause
(a) Weakening of immune system
(b) Sleeplessness

(c) Speech interference

(d) Increase in blood pressure

(e) Shaft 1n threshold of hearing

() Respiratory problems

Choose the correct option from those given below :

(1) (a). (b). (c). (e) and (P (2) (b). (c). (d) and (e)
(3) (b). (c). (d). (e) and (f) (4) (a). (b). (c). (d). (e) and ()
Options:

B1547526449. 1
61547526450, 2
61547526451, 3
61547526452, 4

Question Number : 38 Question Id : 6154756783 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Sﬂi:l giaéqu % qu{unqﬁl.-' :l
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(d) =T o g
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(1) (a). (). (). (e) =TT B 2 (), (©), (d) =R (e)

(3) (b, (0). (d). (e) 3T () 4)  (a). (). (©). (d). () 31T (f)
Options:

E1547526445. 1
E1547526450. 2
BE1547526451. 3
61547526452, 4

Question Number : 39 Question Id : 6154756784 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The potential of geothermal power in India 1s approximately

(1) 10 GW (2) SoGW
(3) 20 GW (4) 20 GW
Options:

61547526453 1
61547526454, 2
61547526455, 3
E1547526456. 4

Question Number : 39 Question Id : 6154756784 Question Type: MCQ Option Shuffling: No Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

g O T fRa §-ard faea =i gurera 2 7

(1) 10 TrmaTe (2) 5 TTTETE
(3) 20 TrTETe (4) 25 TmEE
Options:

61547526453, 1
E1547526454. 2
E1547526455. 3
B1547526456. 4

Question Number : 40 Question Id : 6154756785 Question Type: MCQ Option Shuffling : No Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

Which of the following air pollutants are produced from room deodorizers?

(1) Inhalable particulate matter

(2) Carbon monoxide

(3) Ozone

(4) Volatile organic compounds
Options:

B1547526457. 1
61547526458, 2
61547526455, 3
E1547526460. 4

Question Number : 40 Question Id : 6154756785 Question Type: MCQ Option Shuffling: No Display Question Number :

Single Line Question Option : No Option Orientation : Vertical

Yes

Yes

Yes



Correct Marks: 2 WrongMarks: 0
freterfiEa & @ iH-= 919 T 4 Fiaenes (w9 fearsmesd) ¥ 47 wh 2 v
(1)  va==E FomHE 9=
(2)  THEA AEISAEEES
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Options:

61547526457, 1
61547526458 2
E154752E6459 =2
61547526460, 4

Question Number : 41 Question Id : 6154756786 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Given below are the statements — one 1s labelled as Assertion (A) and the other 1s labelled as

Reason (R) :

Assertion (4) : Considering higher education as a non-priority for the state is linked to the
withdrawal of public funding to 1t.

Reason (R) : The pressure of free enterprise system in this regard 1s an attempt to

expand their educational market.

In the light of above two statements, choose the correction option :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are true and (R) 1s not the correct explanation of (A)
(3) (A) 1s true, but (R) 1s false

(4) (A) 1s false, but (R) 1s true

Options:
B1547526451. 1

E15475284E62. 2
E1547526463. 3
B1547526464. 4



Question Number : 41 Question Id : 6154756786 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

61547526461, 1
61547526462 2
61547526463 o
61547526464 4

Question Number : 42 Question Id : 6154756787 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: O

The community colleges have provisions for
(1) Single admission

(2) Concurrent admission

(3) Self-financing system

(4) Teaching at home

Options:

61547526465, 1
61547526466, 2
1547526467 2
E1547526468. 4



Question Number : 42 Question Id : 6154756787 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

AHEIE HETeee § gEaE o

(1) U= T=7

(2) HrEda! TE
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(4) =T fEreEe

Options:

61547526465, 1
61547526466, 2
61547526467, o
61547526468, 4

Question Number : 43 Question Id : 6154756788 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

An institution desirous of applying for deemed to be university status must have been 1n

existence for at least

(1) 5 Years (2) 10 Years
(3) 20 Years (4) 25 Years
Options:

E1547526469. 1
E1547526470. 2
B1547526471. 3
G1547526472. 4

Question Number : 43 Question Id : 6154756788 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:



E1547526469. 1
B1547526470. 2
61547526471, 3
E1547526472. 4

Question Number : 44 Question Id : 6154756789 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The WTO negotiation on higher education deals with 1ssues hike :

(a) education as a free service

(h) vigorous soclal affirmation in developed countries
(c) assigning important role for civil society

(d) education as a trade

(&) education as a commodity

(f) withdrawal of public sector from higher education

Choose the correct answer from the options given below :

(1) (a). (c) and (d) (2) (a).(b)and (d)
(3) (b). (c) and (e) (4) (d).(e) and (D
Options:

61547526473 1
61547526474, 2
61547526475, 3
E154752647E. 4

Question Number : 44 Question Id : 6154756789 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
= Toren = gy 4 faga = =@ i At § Feteiag G o=t i

(@)  Toem Fues 5 2

(b)  Taerfad 2= 9 SeETEqol WETTE HEAT
(d) =AUE =7 H e

(e) a‘-'?-LTFqHT-’HHT

(6 7= T 4 meRn A o e

Hel T =1 999 it -
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Options:

615475264731
61547526474, 2
61547526475, 3
E1547526476. 4



Question Number : 45 Question Id : 6154756790 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The objective of Indian Government behind setting up of HEFA (Higher Education Finance
Agency) 1= to provide financial support for :

(1)
(2)
(3)
(4)

Options:

Improvement of infra structure in premier institutions of the country
Research projects of faculty
Research collaboration between Indian and Foreign Universities

Research collaboration between Indian Institutions and Industry

B1547526477. 1
61547526478, 2
61547526479, 3
61547526450, 4

Question Number : 45 Question Id : 6154756790 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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B1547526477. 1
B1547526478. 2
615475264759 3
61547526450, 4

Sub-Section Number: 4
Sub-Section 1d: 615475303
Question Shuffling Allowed : Yes

Question Id : 6154756791 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (46 to 50)
Question Label . Comprehension



Read the following passage carefully and answer the questions that follows:

Under the labour theory of value, the value or price of a commodity depends exclusively on
the amount of labour going into the production of the commodity. This implies that either
labour is the only factor of production or labour is used in the same fixed proportion in the
production of all commodities and that labour is homogeneous, i.e. of only one type. Since
neither of these assumptions is true, we cannot base the explanation of comparative
advantage on the labour theory of values specifically, labour is not the only factor of
production. nor is it used in the same fixed proportion in the production of all commodities.
For example. much more capital equipment per worker is required to produce some products,
such as steel, than to produce other products such as textile. In addition, there is usually
some possibility of substitution between labour, capital and other factors in the production of
most commodities. Further more, labour is obviously homogeneous but varies greatly in
training, productivity and wages. At the very least, we should allow for different
productivities of labour. Indeed. this is how the Ricardian theory of comparative advantage
has been tested empirieally. In anv event, the theorv of comparative advantage need not he
based on the labour theorv of value but can be explained on the basis of the opportunity cost
theory which is acceptable. To be noted is that Ricardo himself did not belive in the labour
theory of walue and used it only as a simple way to explain the law of comparative
advantage. The law of comparative advantage is sometimes referred to as the law of
comparative cost.

Sub questions

Question Number : 46 Question Id : 6154756792 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
What does the Labour Theory of Value imply?

(1) Labour 1= an extra factor in production
(2) Labour has a limited role in production
(3) Labour has the highest value 1n production

(4) Commodity price and labour value are directlv related

Options:

615475264581, 1
615475264382 2
61547526482 2
61547526454, 4

Question Number : 47 Question Id : 6154756793 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In the Labour Theory of Value. when it comes to production of commodities. engagement of
labour 13

(1) heterogeneous (2) 1n fixed proportion
(3) in varied proportion (4) capital intensive
Options:

61547526455, 1
61547526456, 2
E1547528487. 3



E154752645858. 4

Question Number : 48 Question Id : 6154756794 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Products like steel need

(1) leas workers (Z) more workers
(3 more machines (4) less machines
Options:

E1547526489. 1
E1547526430. 2
B15475264591. 3
61547526452, 4

Question Number : 49 Question Id : 6154756795 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The Ricardian Theory 1s examined on the basis of

(1) labour value (2) homogeneity of labour
(3) different levels of labour productivity (4) law of possibility
Options:

BE15475264593. 1
61547526454, 2
615475264385 3
E1547526436. 4

Question Number : 50 Question Id : 6154756796 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

According to the author of the passage

(a) labour 1s the basis of commodity pricing

(b) labour can be substituted with capital

(c) less capital equipment per worker 1s required for products like textile
(d) opportunity cost can help explain comparative advantage

(e) Ricardo used the labour theory of value only to explain comparative cost
(D) Ricardo was not sure of his own theory

Choose the correct option :

(1) (a). (b) and (c) (2) (b). (c) and (d)
(3) (d). (e) and (£ (4) (). (d) and (e)
Options:

61547526457, 1
615475264358, 2



E15475264395. 3
B1547526500. 4

Question Id : 6154756791 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (46 to 50)
Juestion Label - Comprehension
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Sub questions

Question Number : 46 Question Id : 6154756792 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
oeg % 49 TagE #1 Ay 27
(1) =™, Sc7724 | U =El B E
(2)  IemeA § 9m i v Himg girw 2
(3)  I0UEA H 4W F I=a9 A 7
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Options:
61547526451, 1
61547526482 2

615475264583, 3
61547526454, 4



Question Number : 47 Question Id : 6154756793 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

61547526485, 1
E15475268486. 2
BE1547526487. 3
B1547526488. 4

Question Number : 48 Question Id : 6154756794 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

E1547526459. 1
E1547526430. 2
61547526451, 3
G15475264392. 4

Question Number : 49 Question Id : 6154756795 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

61547526453 1
61547526434, 2
61547526435 3
E15475264396. 4

Question Number : 50 Question Id : 6154756796 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547526497, 1
61547526498, 2
61547526499 2
61547526500 4

(2) (b, (c) 3 (d)
(4)  (0). (d) #7 (e)

PART II Telugu

Section Id : 61547592
Section Number : 2
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 92
Number of Questionsto be attempted: 92
Section Marks: 200
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 615475304
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 6154756797 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E1547526501. 1
B1547526502. 2
61547526503, 3
61547526504, 4

Question Number : 51 Question Id : 6154756797 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

61547526501, 1
E1547526502. 2
E154752E8503. 3
E1547526504. 4

Question Number : 52 Question Id : 6154756798 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

615475268505, 1
61547526506, 2
61547526507, 3
E1547526508. 4

Question Number : 52 Question Id : 6154756798 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

615475268505, 1
61547526506, 2
E1547526507. 3
E154752E8508. 4

Question Number : 53 Question Id : 6154756799 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E1547526509. 1
E1547526510. 2
61547526511, 3
G154752651%2. 4

Question Number : 53 Question Id : 6154756799 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

61547526509, 1
61547526510, 2
E1547526511. 3
B1547526512. 4

Question Number : 54 Question Id : 6154756800 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

E1547526513. 1
BE1547526514. 2
61547526515 3
G1547526516. 4

Question Number : 54 Question Id : 6154756800 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

615475265131
61547526514, 2
E154752E8515. 3
BE1547526516. 4

Question Number : 55 Question Id : 6154756801 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

615475265171
61547526518, 2
61547526519, 3
E154752E8520. 4

Question Number : 55 Question Id : 6154756801 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

BE1547526517. 1
61547526518, 2
61547526519, 3
61547526520, 4

Question Number : 56 Question Id : 6154756802 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

DO® €9 D0 &) BPHAK H020809087

(1) ;’a{_@cm‘% (2) essDE
(3) b, 4 &b
Options:

E1547526521. 1
B154752E8522. 2
B1547526523. 3
B1547526524. 4

Question Number : 56 Question Id : 6154756802 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

BE1547526521. 1
B1547526522. 2
E1547526523. 3
61547526524, 4

Question Number : 57 Question Id : 6154756803 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

B15475268525. 1
G1547526526. 2
E1547526527. 3
E154752E8528. 4

Question Number : 57 Question Id : 6154756803 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

B1547526525. 1
B1547526526. 2
E1547526527. 3
61547526528, 4

Question Number : 58 Question Id : 6154756804 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

B1547526529. 1
B1547526530. 2
61547526531, 3
E154752653%2. 4

Question Number : 58 Question Id : 6154756804 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

B1547526529. 1
61547526530, 2
61547526521, 3
E1547526532. 4

Question Number : 59 Question Id : 6154756805 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

BHE H5S” esedogd S8 eBonaiBD) 52 :

(1) DPRB Sy (2)  DI°6E SHosakg
(3) D oFgee 2 (4)  re),88 %D
Options:

615475268533, 1
61547526534, 2
61547526535, 3
E154752E8536. 4

Question Number : 59 Question Id : 6154756805 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

615475268532, 1
61547526534, 2
E154752E8535. 3
BE1547526536. 4

Question Number : 60 Question Id : 6154756806 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547528537, 1
61547526538, 2
E154752E8539. 3
E1547526540. 4

Question Number : 60 Question Id : 6154756806 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547526537, 1
61547526538, 2
E1547526539. 3
E1547526540. 4

Question Number : 61 Question Id : 6154756807 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547526541, 1
E1547526542. 2
61547526542, 3
E1547526544. 4

Question Number : 61 Question Id : 6154756807 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

B1547526541. 1
B1547526542 2
61547526543, 3
61547526544, 4

Question Number : 62 Question Id : 6154756808 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

61547528545, 1
E154752654E. 2
B1547526547. 3
61547526548, 4

Question Number : 62 Question Id : 6154756808 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

615475268545 1
61547526546, 2
61547526547, 3
E1547526548. 4

Question Number : 63 Question Id : 6154756809 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547526549 1
615475268550, 2
E1547528551. 3
E1547526552. 4

Question Number : 63 Question Id : 6154756809 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547526549, 1
E1547526550. 2
E1547526551. 3
B1547526552. 4

Question Number : 64 Question Id : 6154756810 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

615475268553, 1
61547526554, 2
615475268555, 3
E154752E8556. 4

Question Number : 64 Question Id : 6154756810 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E1547526553. 1
E1547526554. 2
61547526555, 3
61547526556, 4

Question Number : 65 Question Id : 6154756811 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

BE1547528557. 1
E1547526558. 2
B1547526559. 3
B1547526560. 4

Question Number : 65 Question Id : 6154756811 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
T D) T3 BB’ DB AoD HBEB?

(1)  es0;g5 S8 (2) 3B.d0.E98
(3) {56,3 Eﬁoi‘)cti:}ar) (4) ﬁ“@;—}wﬁ 2058 ?Jjajzjoi)§
Options:
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Question Number : 66 Question Id : 6154756812 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:
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BE1547526563. 3
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Question Number : 66 Question Id : 6154756812 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
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Question Number : 67 Question Id : 6154756813 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:
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E1547526567. 3
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Question Number : 67 Question Id : 6154756813 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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E1547526566. 2
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Question Number : 68 Question Id : 6154756814 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:
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Question Number : 68 Question Id : 6154756814 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Question Number : 69 Question Id : 6154756815 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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B1547526573. 1
B1547526574. 2
G1547526575. 3
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Question Number : 69 Question Id : 6154756815 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Question Number : 70 Question Id : 6154756816 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:
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BE154752E857E. 2
B1547526579. 3
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Question Number : 70 Question Id : 6154756816 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
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E15475265749. 3
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Question Number : 71 Question Id : 6154756817 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

B |5 [5G

(1) DTG 2) mh}émjffé}
(3) ﬁmﬂéaﬁi;ij@ (4) Dugordod
Options:
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BE1547526583. 3
B1547526584. 4

Question Number : 71 Question Id : 6154756817 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Question Number : 72 Question Id : 6154756818 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Question Number : 72 Question Id : 6154756818 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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B1547526587. 3
B1547526588. 4

Question Number : 73 Question Id : 6154756819 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
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Question Number : 73 Question Id : 6154756819 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
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Question Number : 74 Question Id : 6154756820 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Question Number : 74 Question Id : 6154756820 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
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Question Number : 75 Question Id : 6154756821 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
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Question Number : 75 Question Id : 6154756821 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
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Question Number : 76 Question Id : 6154756822 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
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E154752E8603. 3
E1547526604. 4

Question Number : 76 Question Id : 6154756822 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Question Number : 77 Question Id : 6154756823 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
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E15475Z26607. 3
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Question Number : 77 Question Id : 6154756823 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Question Number : 78 Question Id : 6154756824 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Question Number : 78 Question Id : 6154756824 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Question Number : 79 Question Id : 6154756825 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
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Question Number : 79 Question Id : 6154756825 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
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Question Number : 80 Question Id : 6154756826 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
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Question Number : 80 Question Id : 6154756826 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
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Question Number : 81 Question Id : 6154756827 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
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Question Number : 81 Question Id : 6154756827 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Question Number : 82 Question Id : 6154756828 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Question Number : 82 Question Id : 6154756828 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Question Number : 83 Question Id : 6154756829 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Question Number : 83 Question Id : 6154756829 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

DO FHOHE HoB SEB )T BIH0 IDe3?

(1) DOTVB (2) DO
(3) Do (4) DI
Options:

B1547526625. 1
E1547526630. 2
61547526631, 3
E15475Z2E8632. 4

Question Number : 84 Question Id : 6154756830 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Question Number : 84 Question Id : 6154756830 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Question Number : 85 Question Id : 6154756831 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Question Number : 85 Question Id : 6154756831 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:
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Question Number : 86 Question Id : 6154756832 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Question Number : 86 Question Id : 6154756832 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Question Number : 87 Question Id : 6154756833 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Question Number : 87 Question Id : 6154756833 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Question Number : 88 Question Id : 6154756834 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
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Question Number : 88 Question Id : 6154756834 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Question Number : 89 Question Id : 6154756835 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Question Number : 89 Question Id : 6154756835 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
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Question Number : 90 Question Id : 6154756836 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Question Number : 90 Question Id : 6154756836 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Question Number : 91 Question Id : 6154756837 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Question Number : 91 Question Id : 6154756837 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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B1547526661. 1
B1547528662. 2
B1547526663. 3
E1547526664. 4

Question Number : 92 Question Id : 6154756838 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

DTN e OFETOONT Dwcn 303D HBowod.

(a) QTYEIRID SO
(b) 5y doyeso
(©) 985 d58es00

(d) STP00E B

(1) (a). (c) (2) (b)), ()
(3) (c), (d) (4) (a). (d)
Options:

BE1547526665. 1
BE154752666E. 2
B1547528667. 3
E1547526668. 4

Question Number : 92 Question Id : 6154756838 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

DTN e OFETOONT Dwcn 303D HBowod.

(a) QTYEIRID SO
(b) 5y doyeso
(©)  9%)F%) d5Bes0

(d) SIP00E B0

(1) (a). (c) @) (b), ()
(3) (c), (d) (4) (a), (d)
Options:

E15475266E5. 1
E1547526666. 2
B1547528667. 3
E1547526665. 4



Question Number : 93 Question Id : 6154756839 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

PR ek K00 DOBH §7Ie0 o HoHoio rHBoDoG.

(a) &%, 580
(b) e, A
(c) 2oR®, Sozd

d T, S

(1) (a), (b) (2) (b), (d)
(3) (d). (a) (4) (b). (e)
Options:

B1547526669. 1
B1547526670. 2
B1547526671. 3
E1547526672. 4

Question Number : 93 Question Id : 6154756839 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

PRy G 06000250 DoBR grae Mo HoYHor HBonoé.

(a)  &°, L8
(b)  Slerdy, 538
(c) 2oR®, Howed)

@  EsoE, S

(1) (a), (b) (2)  (b). (d)
(3) (d). (a) (4) (b). (e)
Options:

E1547526669. 1
E154752E8670. 2
B1547526671. 3
B1547528672. 4

Question Number : 94 Question Id : 6154756840 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



;')Gnéa‘ﬁa Soeen mga{ﬁo&.

(a) Eena)
(b) DHOGETE

(c) DyoeIET=E

(d) T2

(1) (a). (b) (2) (b)), ()
(3) (a), (d) (4)  (e). (d)
Options:

B1547526673. 1
E1547526674. 2
61547526675, 3
B1547526676. 4

Question Number : 94 Question Id : 6154756840 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

;‘:@u;jcm Seen mga{f}o&*

(a) o)
(b) JHOGETE

(c) D)0LIET=

(d) ARAY)

(1) (a), (b) (2) (b). (c)
(3) (a), (d) (4) (). (d)
Options:

E1547526673. 1
E1547526674. 2
E154752E8675. 3
B1547526676. 4

Question Number : 95 Question Id : 6154756841 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



@g U‘Egﬁ{f}{] 0B TP ;

(a) e905°R)
(b) BIVIAY
() PRI Llokh

(d) Eﬂo’}c‘;’mécﬁj

(1) (a). (b) (2)  (b). (e)
(3) (a). (d) (4) (a). (e)
Options:

E1547526677. 1
E1547526675. 2
BE1547526673. 3
B1547526680. 4

Question Number : 95 Question Id : 6154756841 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

@g ;fgg‘g{fm wo8R JTeen

(a) eI
(b) DR

() oo ToeP

(d) Eﬂo’-‘*c;’méc:éa

(1) (a). (b) (2) (b)), (c)
(3) (a), (d) (4) (a). (c)
Options:

E154752B8677. 1
B1547526670. 2
B1547528675. 3
E15475266580. 4

Question Number : 96 Question Id : 6154756842 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



DEYD S DB DRrD0DIT

(a)  ForEoch

(b) DIED
(c) mgba‘}
(d) R

G
(L)  (a), (b) (2) (a). (d)
(3) (a), (e) (4) (b) (d)
Options:

615475266581, 1
BE1547526682. 2
B1547526683. 3
B1547526684. 4

Question Number : 96 Question Id : 6154756842 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

D B8 POBD |HTD0VITHD

(a)  @orEotd

(b) DI
() aaéb‘n‘}
(d) R

G
(1) (a), (b) (2) (a), (d)
(3) (a), (e) (4) (b (d)
Options:

61547526681, 1
G1547526682. 2
E1547526683. 3
E15475Z2E8684. 4

Question Number : 97 Question Id : 6154756843 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



csmﬂzg ol DR ﬁﬁﬁe%eém(ié)@éal STaTgen

(a) mﬁ@@sﬁaﬁéﬁﬁn

(b) DBEHT°E), DesOBIHDD

() 520D K}Pﬁééém

(d) NOTEDHEe BTG D00

(1) (a), (c) (2) (a), (b)

(3) (a), (d) (4)  (b), (d)
Options:
£1547526R35.
£1547526636.

B1547526687.
B1547528688.

[ N

Question Number : 97 Question Id : 6154756843 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

c:smﬁzg QOHD SRReorT Z}ﬁr‘fﬁ%@émcﬁj@@ ST

(a) aﬂ?ﬁ@%vaﬁéécﬁm

(b) EDT°Y), VoD

(©  SOBHE DIy 550

(d) NOTEDHe BIEB $300

(1) (a), (c) (2) (a), (b)

(3) (a), (d) (4) (b), (d)
Options:
61547526685,
61547526686,

G154752E687.
E1547526688.

[ N

Question Number : 98 Question Id : 6154756844 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



;imfgﬁ 95 S50 ;
(a) Bora e
(b) 2585

(c) 2965 23er

(d) {fD%“eq) 65;850

(1)  (a). (b) (2) (b ()
(3) (b). (d) (4) (c). (d)
Options:

BE1547526689. 1
61547526630, 2
61547526631, 3
E1547526632. 4

Question Number : 98 Question Id : 6154756844 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

D00 T BWDeN :
(a) EoRImen
(b) B3

(c) 2965 e3er

(d) 653%“5 55_3}“%5{}

(1) (a), (b) (2)  (b). (e)
(3) (b). (d) (4)  (e). (d)
Options:

BE1547526689. 1
B15475266350. 2
61547526631, 3
E1547526639%2. 4

Question Number : 99 Question Id : 6154756845 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



E°|8ared Nomeesd oes)) mreoseen :

(a)  Bms eris
(b)  Ederdden

(c) AROG® |DE-BG° Toer

(d) 5068

(1) (a). (d) (2) (a), (e)

(3) (b). (e) (4) (b). (d)
Options:

BE15475266593. 1
61547526654, 2
615475266385, 3
E1547526636. 4

Question Number : 99 Question Id : 6154756845 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
E°|8ared Hormee3d o)) mreaseen :
(a) é‘éa‘héﬁ |
(b) SHeasdden

(c) ORGP |DEe-BG° Toer

(d) 5B

(1) (a). (d) (2) (a),(e)

(3) (b). (e) (4) (b)), (d)
Options:

E154752E86593. 1
E15475266394. 2
B15475266595. 3
B15475266356. 4

Question Number : 100 Question 1d : 6154756846 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



DD O E&den :
(a) 2838580
b) S5 I
(c) Traf ©X0

(d) 282020

(1) (b). (c) (2) (a), (d)
(3) (a). (b) (4) (c). (d)
Options:

E15475266397. 1
61547526638, 2
E15475266599. 3
B1547526700. 4

Question Number : 100 Question Id ;: 6154756846 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
TRt OrR Edden :

(a) 2085580
(b) é%éé
(c) P05 950

(d) BT

(1) (b). (e) (2) (a), (d)
(3) (a). (h) (4) (o). (d)
Options:

E15475266597. 1
E15475266398. 2
B15475266595. 3
G1547526700. 4

Question Number : 101 Question Id : 6154756847 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



TPARR EYREDTE Sdven :

(@)  BeuHS® 5% deviHen
(b) e Raeden

(c) Derd 855 N850

(d) ea57% gl

(1) (a). (b) (2)  (b). (e)
(3) (d). (b) (4) (e). (a)
Options:

E1547526701. 1
B1547526702 2
B1547526703. 3
E1547526704. 4

Question Number : 101 Question 1d : 6154756847 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

FPORR) E)aiE0DT°0 Sen :

(@)  BeuHS® 5% devrben
(b) eSS Rabmegen

(c) DM JPB5T° JEgI50

(d) es5v% gl

(1) (a). (b) (2) (b)), (e)
(3) (d). (b) 4) (c). ()
Options:

61547526701, 1
E154752E6702. 2
E1547526703. 3
B1547526704. 4

Question Number : 102 Question Id ;: 6154756848 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



“ePR5E RAST®e0 — AroanE DBIE” |f05P8 HODLEBL0 JaroDD T ¢

(a)  PEODIPB Moo
(b) ngcs tﬁ@aéﬁﬁ%
(c) DENOTReR TULOTRP

(d)  wahd )R8

(1)  (a). (h) (2) (o). (b)
(3) (d). (b) 4) (o), (d)
Options:

615475267051
G1547526706. 2
E1547526707. 3
61547526708, 4

Question Number : 102 Question Id : 6154756848 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
“eR5E RAST®e0 — Aroans DBIE”™ |foFPR8 HoDLEBL0 HarodD oK) :

(a) 2DEOHIB Koreesso
(b) o}gecﬁ tﬁ@aéﬁﬁ%
(c) 2IBIC0TRER TP00°eR

() oD 53058

(1) (a), (b) (2) (e), (b)
(3) (d), (b) 4)  (c). (d)

Options:

61547526705,
61547526706,
61547526707,
E154752E708.

[ N

Question Number : 103 Question Id : 6154756849 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



SoBHEg TR0 NDI0D JSTOE BN :

(a) S

(b) 10638S

(© @8

(d) Eﬂaﬂa‘}ﬁ

(1) (c). (d) (2) (a), (b)
(3) (b). (d) (4) (a). (c)
Options:

61547526709, 1
61547526710, 2
E1547526711. 3
B1547526712. 4

Question Number : 103 Question Id : 6154756849 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
S TR0 JIDI0D HI"OE Hagen :
=

(a) S

(b) 106985

(@ &8

(d) Eﬂa?}a‘}ec}_%

(1) (e). (d) (2) (a), (b)
(3)  (b).(d) (4) (a). (c)
Options:

61547526709, 1
E1547526710. 2
B1547526711. 3
B1547526712. 4

Question Number : 104 Question Id ;: 6154756850 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



0§ DO DTCI IDIGEe0
(a) Q%:’:S TP 0°)

(b)  §%e DEHDY

(c) 2.2, |TYEO

(d) 3.9.e38. H8DoTrO

(1) (@, () @)  (b). (¢)
(3) (c). (d) (4) (a), (b)
Options:

E1547526713. 1
B1547526714. 2
61547526715 3
B1547526716. 4

Question Number : 104 Question Id : 6154756850 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

05 WO RTEOI JDIGEeD
(a) Q%JQS T°RJ°0°)

(b) 5B DRI

(c) 2.2, AD|RITRYERO

(d) 3.9.e38. H8HoTr0

(1) (a). (d) 2) (h). (c)
(3)  (e) (d) 4) (a). (b)
Options:

615475267131
E1547526714. 2
E154752E8715 3
B1547526716. 4

Question Number : 105 Question Id : 6154756851 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



BEBAD SOBL FEIO TADTD :

.

(@) 1o 2D
(b) ¥30GR8080

(0 & eyt

(d) DI

(1) (c). (d) (2)  (b). ()

(3) (b). (d) (4) (a). (b)
Options:

61547526717, 1
E1547526715. 2
B1547526718. 3
B1547526720. 4

Question Number : 105 Question Id ;: 6154756851 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

BABADH SOBLD R0 TRDTHD :
(@) 0 RD

(b)  Hodsueo

(€) &0y o), Be

(d) TP )C

(1) (c), (d) (2)  (b). (e)
(3) (b), (d) 4) (a) (b
Options:

B1547526717. 1
B1547526718. 2
G1547526719. 3
E1547526720. 4

Question Number : 106 Question Id : 6154756852 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



EIrssee daifo 26 esgrrsorne DabaGos?

(a) e9gddo

(b)  S5° D0

(c) B0

(d) e3:3850

(1) (a). (d) (2) (b). (c)
(3) (o). (d) (4) (a). (b)
Options:

61547526721, 1
B1547526722. 2
B1547526723. 3
B1547526724. 4

Question Number : 106 Question 1d : 6154756852 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

BEr5see derifo 26 esprdornt Dados?

(a) 29200300

(b)  Sor 50D

(c) B0

(d) e3:5%550

(1) (a). (d) (2) (b)), (e)
(3)  (e) (d) (4) (a). (b)
Options:

B1547526721.1
G1547526722 2
E1547526723. 3
BE15475268724. 4

Question Number : 107 Question Id : 6154756853 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



DFGTEIE DD DL SRV eTErdeen

(a)  ODFE - P

(b)  TeHVE - RHE

¢) BOHE - o

d) 5 - eErs

()  (e). (d) (2) (b, (d)

(3) (a), (b) (4) (a). ()
Options:
1547526725
E154752E72E.

B15475Z2E8727.
B1547526728.

o LIRS

Question Number : 107 Question Id : 6154756853 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
BTG DD DL SIDW'HE &TETrTeeD

(a)  ODFE - S

(b)  ToHVE - R

(¢) BINHE - S5

A  HRGE - eETr@w

(1) (e), (d) 2) (b), (d)

(3)  (a). (b) (4) (a). (c)
Options:
1547525725,
1547526726,

B1547526727.
B1547526728.

[ N

Question Number : 108 Question Id ;: 6154756854 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



ol HoBHTeren SPFoDH Bareoiren :

(a)  DOGOS MT°E eseco
(b) 0 e precio
(c) §%ae0), Shatefiarlles e

(d)  50d s=org esedo

(1) (a). (d) (2)  (e). (b)
(3) (d), (c) (4) (b). (e)
Options:

615475267291
B1547526730. 2
B1547526731. 3
B1547526732. 4

Question Number : 108 Question Id : 6154756854 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
ol HoBHT eren 50D Bareoiren :

(a) DOGOY Mg eseado
(b) 0 BT
(c) §%e5ud), A E§BaTe000

(d)  5od smorg eswao

(1) (a), (d) (2)  (e). (b)
(3)  (d). (e) (4) (b), (¢)
Options:

B15475267259.1
G1547526730. 2
E1547526731. 3
BE154752E8732. 4

Question Number : 109 Question Id : 6154756855 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



E 0EDed oraro) ﬁ.)goémci% :

(a) DD BG
)

(b) DR 6§

(c) g9y 6%

(d) 09 9DIT® B%

(1) (a), (c) (2) (). (d)
(3) (b). (e) (4) (d). (a)
Options:

61547526732 1
E1547526734. 2
BE1547526735. 3
B1547526736. 4

Question Number : 109 Question Id ;: 6154756855 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

E 0&ded orared ﬁ.}_ﬁﬂoéaé :

(a) NS B8
L

(b) D) Ef@

(c) ey yDsage 6%

(d) 89 9IIT° B%

(1) (a), (c) (2)  (e). (d)
(3)  (b), () (4) (d), (a)
Options:

B1547526733. 1
B1547526734. 2
61547526735 3
E1547526736. 4

Question Number : 110 Question Id : 6154756856 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



RHOME H0% 5700657 J23aHNE SegeaR) DoEBHoBD 208 orafertoen

(a) 10@3)53
(b) D5°S® §°%0e3
(c) eSPo20

(d) Eﬂmé)@g &e3§

(1) (b). (d) (2) (a), (e)
(3) (b). (c) (4) (a). (d)
Options:

B1547526737. 1
61547526738, 2
E1547526739. 3
61547526740, 4

Question Number : 110 Question Id : 6154756856 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

RHOMS0 H0% SPe06S° DescHH 56e°R) D00V D03 orofETEIen ;

(a) Zur‘?p_’%ﬁ)ﬁ:r
(b)  5°S® §°0e3
(e) ¢St

(d) Eﬂ%@g &e3E

(1) (b), (d) (2) (a), (e)
(3) (b). (c) 4y (a). (d)
Options:

B1547526737. 1
B1547526738. 2
B1547526735. 3
E1547526740. 4

Question Number : 111 Question Id : 6154756857 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



ROMH00 HDY F’Jc}c:ﬁ::??)e::m foBovod :

(a) 195 5?(550955
(b) | PrcEroe Srared”
(€ o8 Bered @tnIERDHE

(d)  5°)) S 0D Erres’

(1) (b)., (d) (2) (a). (d)
(3) (c), (d) 4y (b). (e)
Options:

BE1547526741. 1
B1547526742 2
E1547526743. 3
61547526744, 4

Question Number : 111 Question Id : 6154756857 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

ROMPHB00 D) POBTHOM KoBowod :

(a) 195 5?(550955
(b)  |PrcErdoe Srared®
(€  20%8 Fereod ebnIEIHHE

(d)  5°)) S PITD Erres’

(1) (b), (d) (2) (a). (d)
(3) (c), (d) (4) (b). ()
Options:

B1547526741. 1
B1547526742 2
B1547526743. 3
E1547526744. 4

Question Number : 112 Question 1d : 6154756858 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



EOTPHD00 N BT areR0 r“i)gc:}{f)cr{% :

(a) a‘:}o}d@mﬂm

(b) 20230°e)

(c) 0GR TEe0
=

(d) AT TPeN

(1) (a). (b) (2)  (e), (d)
(3) (a), (c) (4) (b). (d)
Options:

615475267451
E154752674E. 2
E1547526747. 3
E1547526748. 4

Question Number : 112 Question Id : 6154756858 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

BTS00 DD BIEreR0 r‘i)gc:récr{% :

(a) a‘)@d@}mm

(b) 20230°e)

(c) RS aleilob)
o

(d) AT TPeN)

(1) (a), (b) (2)  (e), (d)
(3) (a), (c) (4) (b). (d)
Options:

615475267451
61547526746, 2
E1547526747. 3
E1547526748. 4

Question Number : 113 Question Id : 6154756859 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



%cﬁoé BEICareh0 r‘i@:}{ﬁo& :

(a) A

(b) AR

(c) §'6%

(d) IS

(1) (a), (b) (2) (a). (e)
(3) (o), (d) (4) (b), (d)
Options:

615475267491
61547526750, 2
E1547526751. 3
B1547526752. 4

Question Number : 113 Question Id : 6154756859 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

%Cﬁoé‘s EICeR) r‘bgo{ﬁo& :

(a) 0%

(b) ee)s

(c) §°6%

(d) ee)s

(1) (a). (b) () (&) ie)
(3) (c). (d) (4) (b (d)
Options:

61547526749, 1
E1547526750. 2
E1547526751. 3
B1547526752. 4

Question Number : 114 Question Id ;: 6154756860 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



SEHE), B BeurHSE"S @HDB0IHTED :

(a) éegjoww’ 59);.}%6&
(b) e

(c) . POPAIIED 6%

(d)  es@ob

(1)  (a), (b) (2) (a), (e
(3)  (a). (d (4) (b). (c)
Options:

B1547526753. 1
61547526754, 2
61547526755 3
61547526756, 4

Question Number : 114 Question Id : 6154756860 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
SEE),BOD BewIHS"S @H0BBOINTD :
(a) :f)egj@ﬁqum 59);’.;\%‘6&
(b) e

(c) . POPAIIED 6%

(d)  es@ob

(1) (a). (b) (2) (a). (c)

(3) (a), (d) (4) (b). (c)
Options:

BE1547526753. 1
B1547526754. 2
61547526755 3
E1547526756. 4

Question Number : 115 Question Id : 6154756861 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Eﬁ*}ﬁ)c‘ém’aﬁﬂ@ RGN J|85e

(a) 23T
(b)  |DerdoB
(c) erEs

(d) [22eg"00 60

(1) (b). (c) (2) (a), (b)
(3) (c), (d) (4) (a). (e)
Options:

E1547526757. 1
61547526758, 2
E1547526759. 3
B1547526760. 4

Question Number : 115 Question Id ;: 6154756861 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

E“E)dﬁi]"éﬁ“@ DG DB :

(a) 23705I°E9
(b)  |QHerdoBd
(c) erEs

(d) [Slsicilela®

(1) (b). (c) (2) (a). (b)
(3) (c). (d) (4) (a), (c)
Options:

E1547526757. 1
E1547526750. 2
61547526755, 3
G1547526760. 4

Question Number : 116 Question Id : 6154756862 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



B IEH0GE

(a) €957,050 () esesgEs B 850
(b) Es% (i) 9508 Dol Eredo
() dw08),& (ili) BIREEE BB E3°D0
@ 4
(d) (O3, (iv) ©grab§Bs BJS 8o

(1) (a)-(1). (b)-(111), (e)-(1v). (d)-(ii)
(2) (a)-(11). (b)-@). (c)-(1v). (d)-(111)
(3) (a)-(11). (b)-(111). (e)-(1), (d)-(iv)

(4) (a)-(1v). (b)-(11), (c)-(1), (d)-(111)

Options:
E154752E7E L.

B1547526762.
B15475267ES.
B1547526764,

[ N I

Question Number : 116 Question Id : 6154756862 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



B IEH0GE

(a) €957,050 () esesgEs B 850
(b) Es% (i) 9508 Dol Eredo
() dw08),& (ili) BIREEE BB E3°D0
@ 4
(d) (O3, (iv) ©grab§Bs BJS 8o

(1) (a)-(1). (b)-(111), (e)-(1v). (d)-(ii)
(2) (a)-(11). (b)-@). (c)-(1v). (d)-(111)
(3) (a)-(11). (b)-(111). (e)-(1), (d)-(iv)

(4) (a)-(1v). (b)-(11), (c)-(1), (d)-(111)

Options:
E154752E7E L.

B1547526762.
B15475267ES.
B1547526764,

[ N I

Question Number : 117 Question 1d : 6154756863 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



(a) @ﬂe:ﬁi}égtﬂzao (1) eendDn

(b)  HEHE5A00 () Dew)
() DY SEBea0 (i) S
(d) E)Lﬁggl (1v) Ea'”e,ajgcig

(1) (a)-(1ii). (b)-(ii). (e)-(iv). (d)-(1)
2) (a)-(i1). (b)-(iii), (e)-(iv). (d)-(1)
(3) (a)-(1). (b)-(d). (e)-(iv), (d)-(iii)
(4) (a)-(iv). (b)-(iil), (c)-(11). (d)-(1)

Options:

615475267 ES. 1
1547526766, 2
61547526767, o
61547526768, 4

Question Number : 117 Question 1d : 6154756863 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

(a) @ﬂ&}c‘?}égrtﬁmo (1) eensdsw
(b) SHFIgHgao (i) Den)
(€ HY DDo¥Beao (1) &%

(d) S:}Lézg_jl (1v) Ea'“m;{ﬁg

(1)  (a)-(ii), (b)-(1i), (e)-(1v), (d)-(1)
(2) (a)-(11). (b)-(111), (e)-(1v). (d)-(1)
(3)  (a)-@). (b)-(i). (c)-(iv). (d)-(iii)
(4) (a)-(iv). (b)-(iii). (c)-(ii), (d)-(i)

Options:
61547526765, 1



BE154752676E. 2
B1547526767. 3
B1547526760. 4

Question Number : 118 Question 1d : 6154756864 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

(a)  grR)Y FBED0 @) 2o
(b) 0D BEBEH0 (i) &orge

(€) OPOOREY BBESD (i) 77665 Dosokg
d) S TS FEHED (iv) &S50 J°EH

(1) (a)-(1). (b)-(i11), (¢)-(11), (d)-(1v)
(2) (a)-(1i1). (b)-(1), (e)-(11), (d)-(iv)
(3) (a)-(111). (b)-(1), (e)-(1v). (d)-(11)

(4) (a)-(ii1), (b)-(iv), (c)-(1), (d)-(i1)

Options:

E15475267E9. 1
1547526770, 2
61547526771, 2
61547526772 4

Question Number : 118 Question 1d : 6154756864 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



(a) g8 BBEDW (1) a)g)rf}

(b)  R0HDOH FHEW (i) grged
(c) TrHOOONREY BHEDW (i) 56 Dosaby
(d) ST o EEHEI0 (iv)  e&EBm Bes

(1) (a)-(1), (b)-(111), (e)-(11), (d)-(1v)
(2) (a)-(i11). (b)-(1), (c)-(11). (d)-(iv)
(3) (a)-(ii1), (b)-(1), (¢)-(iv). (d)-(i1)

(4) (a)-(111), (b)-(1v), (e)-(1). (d)-(11)

Options:

61547526769, 1
61547526770 2
E1547526771. 2
E1E54752E772. 4

Question Number : 119 Question Id : 6154756865 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



PO GHo00|E8

(a) DrIED Ho? 1) Do

(h) [Idos i) 2B

© serds dgen (il) TG NEHI
(D Deag gm0 5 B (iv) Sl rdoes

(1) (a)-(1), (b)-(111), (c)-(iv), (d)-(i1)
(2) (a)-(iv), (b)-(iii). (¢)-(ii). (d)-(1)
(3)  (a)-(id), (b)-(iii), (e)-(1), (d)-(iv)
(4) (a)-(1i1). (b)-(iv). (e)-(1). (d)-(i1)

Options:

E1547526773. 1
1547526774 2
61547526775, o
61547526776, 4

Question Number : 119 Question Id ;: 6154756865 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



PO GHo00|E8

(a) DrIED Ho? 1) Do

(h) [Idos i) 2B

© serds dgen (il) TG NEHI
(D Deag gm0 5 B (iv) Sl rdoes

(1) (a)-(1), (b)-(111), (c)-(iv), (d)-(i1)
(2) (a)-(iv), (b)-(iii). (¢)-(ii). (d)-(1)
(3)  (a)-(id), (b)-(iii), (e)-(1), (d)-(iv)
(4) (a)-(1i1). (b)-(iv). (e)-(1). (d)-(i1)

Options:

E1547526773. 1
1547526774 2
61547526775, o
61547526776, 4

Question Number : 120 Question Id : 6154756866 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



(a) es0[Go® B3 Degido 1) &N D.d0. DT IR

(b) Beor Adukey — PedSH0 1) DSB8 Homresso
(€) DG AoHen (iii) I es850HR WoEso
(d) e Jromw B0 (iv) oI D). DEIOIVE

(1) (a)-(1i1). (b)-(iv). (e)-(i1). (d)-(1)
(2) (a)-(1), (b)-(11). (c)-(1v), (d)-(111)
(3) (a)-(111), (b)-(1), (e)-(1v), (d)-(11)

(4) (a)-(11). (b)-(i1i). (e)-(). (d)-(iv)
Options:

51547526777,
51547526778,
81547526779,
51547526780,

[ N N

Question Number : 120 Question Id : 6154756866 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

(a) e0[Go® BRI Degido 1) &N DR, DT TR
(b) BewHd FRBEL — WHEDHO (i) EORIT8 Moreesso

(€) HFODHE Do (iii) Gon es83aR oEso

(d) FHeS® ot BIBo iv) @I 2. DEOIVG

(1) (a)-(111), (b)-(1v), (c)-(11). (d)-(1)
(2) (a)-(1). (b)-(11). (c)-(1v), (d)-(111)
(3) (a)-(ii1), (b)-(1), (¢)-(iv), (d)-(ii)

(4) (a)-(11), (b)-(i11), (¢)-(1). (d)-(iv)

Options:



B1547526777. 1
B1547526778. 2
B15475267758. 3
E1547526750. 4

Question Number : 121 Question Id : 6154756867 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

o 58
(a) émﬁ?ﬂ%ﬁ%ﬂﬁrﬁ%@&
(b) Eo°c oUR0E)HOT
(c) ﬁ“@@r‘fcﬁé mqjéﬁ)éoaao‘bm;’g)
(d) redeod 57 o))
(1) (a)-(111), (b)-(iv). (e)-(1), (d)-(11)
(2) (a)-(1v), (b)-(i1). (e)-(1). (d)-(111)
(3) (a)-(11), (b)-(1). (e)-(111), (d)-(1v)
(4) (a)-(1), (b)-(1i1), (¢)-(1v), (d)-(i1)
Options:
61547526781, 1
61547526782, 2
61547526783, 3
61547526754, 4

Question Number

Correct Marks: 2 WrongMarks: 0

(1)
(11)
(111)

(1v)

|Hodgo

TG PPOBRD — VYOI B BDW
304 AVTPETEBH ~ POLE 3L
Do

0|5 OB EIT® DD

: 121 Question Id : 6154756867 Question Type: MCQ Option Shuffling : No Display Question Number ; Yes
Single Line Question Option : No Option Orientation : Vertical



(a)
(b)
(c)

(d)

(1)
(2)
(3)
(4)

Options:

o 58

P0CsT°8 E)aRTordgen
§°0rcs CoR0E)RONS
ﬁ“@@r‘fcﬁé mqjéﬁ)éo&eo‘bvﬂs’g)

@ﬂ&?)&)og DTG By

(a)-(111), (b)-(1v). (c)-(1). (d)-(11)
(a)-(1v), (b)-(i1). (e)-(1), (d)-(i11)
(a)-(11), (b)-(1). (¢)-(iii), (d)-(iv)
(a)-(1), (b)-(111), (e)-(iv), (d)-(i1)

B1547526781. 1
B1547526782. 2
B1547526783. 3
E1547526754. 4

(1)
(i1)
(111)

(1v)

|Hodo

g0 BB ~ YOS HBk ;D
30|63 DOIFIEBHN — PO BN
ED|BciHR0

&0($ gEE 5JT° B0

Question Number : 122 Question Id : 6154756868 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



o[ S°80

(a) DoooHHd (1) se&ob

(b)y &ormrow (11) éﬁcﬁ&?@&b@éa
() 8RB (iii1) oo

(d) 05 (iv) S99 5350

(1) (a)-(111). (b)-(1), (e)-(11), (d)-(1v)
(2) (a)-(11). (b)-(i11), (e)-(1v). (d)-(1)
(3) (a)-(ii), (b)-(1). (¢)-(iii), (d)-(iv)

(4) (a)-(111). (b)-(1v), (e)-(11). (d)-(1)
Options:
1547526785,
C1547E2EVEE.
E1547E2E78Y.
1547526788,

o LIRS

Question Number : 122 Question Id : 6154756868 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



o[ S°80

(a) DoooHHd (1) se&ob

(b)y &ormrow (11) éﬁcﬁ&?@&b@éa
() 8RB (iii1) oo

(d) 05 (iv) S99 5350

(1) (a)-(111). (b)-(1), (e)-(11), (d)-(1v)
(2) (a)-(11). (b)-(i11), (e)-(1v). (d)-(1)
(3) (a)-(ii), (b)-(1). (¢)-(iii), (d)-(iv)

(4) (a)-(111). (b)-(1v), (e)-(11). (d)-(1)
Options:
1547526785,
C1547E2EVEE.
E1547E2E78Y.
1547526788,

o LIRS

Question Number : 123 Question Id : 6154756869 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



(a) Dol S over i)  2chorer

(b) sS°E8BADH orew (i) HrEING
() eoDHING orer (i) BSOS
(d) Rﬂgéméré e (iv) P88 oraien

(1) (a)-(1v). (b)-(11), (¢)-(i11), (d)-(1)
(2) (a)-(11). (b)-(1v), (e)-(1), (d)-(111)
(3) (a)-(111). (b)-(1). (e)-(iv). (d)-(11)

(4) (a)-(1), (b)-(1v)., (c)-(111), (d)-(11)

Options:

1547526789, 1
E154752E6790. 2
1547526791, 5
61547526732 4

Question Number : 123 Question Id : 6154756869 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



(a) Dol S over i)  2chorer

(b) seEdHGH orew (i) DrESSG
() DBALING orew (i) BSOS
(d) 3);}%’55)0&?\‘) e (1v) P88 oraiden

(1) (a)-(iv). (b)-(11), (¢)-(i11), (d)-(3)
(2) (a)-(11). (b)-(Av). (¢)-(1). (d)-(1ii)
(3) (a)-(111). (b)-(1). (e)-(1v). (d)-(11)

(4) (a)-(1), (b)-(1v), (e)-(1i1), (d)-(11)

Options:

1547526789, 1
E154752E6790. 2
1547526791, 5
61547526732 4

Question Number : 124 Question Id ;: 6154756870 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
(a) &gﬁ%gpo 1) &35rSiShooires I DD c‘;)ovéﬁam

Dow) (HNAVow grHos Wal)eo0

(b) |965 (i) Pozromes a8 alop i} DEICNCDHLI0
(© Hoeog@BrrRe (i) (DRGAH ESHTTRY &TRADOT 3)e0
(d) oo (iv) DDA BV SDE T FPAODLI0

(1 (@)-3), (b)-(iid), (e)-(iv), (d)-(G1)
(2)  (a)-@ii). (b)-G). (e)-(). (d)-(iv)
(3) (a)-(iv). (b)-(111). (c)~(11). (d)-(1)
(4) (a)-(i1). (b)-(iv). (c)-(i11). (d)-(i)

Options:



BE15475267393. 1
B1547526754. 2
B1547526735. 3
E1547526736. 4

Question Number : 124 Question 1d : 6154756870 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

(a)

(b)
(c)

(d)

(1)
(2)
(3)

(4)

Options:

e§@o

(a)-(1). (b)-(111). (c)-(1v). (d)-(11)
(a)-(1i1). (b)-(i1). (e)-(1). (d)-(iv)
(a)-(1v), (b)-(111). (e)-(11). (d)-(1)

(a)-(11), (b)-(1v). (e)-(111). (d)-(1)

6154752673931
E1547526734. 2
E154752E8735. 3
BE15475267396. 4

(1)

(11)
(111)

(1v)

E55rSSRoaire B DK AP
Do [DdDow grHoS” Iye0

BRT0T 28 (o3 DETDOBWO
SDEDO SITETTRY &TRcHOM B3es0
G

DRV BIDEEN IDE DTV A0V

Question Number : 125 Question Id : 6154756871 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



D0 J|B5en

(a) oo (1) echod
(b) srofho EEen (1) e e?
(c) %Dltﬁﬁ)vﬁj (iil) SeyosH

(d) =80 780 (iv) ~rard

(1) (a)-(1). (b)-(11). (e)-(111), (d)-(1v)
(2) (a)-(111). (b)-(1v). (e)-(1), (d)-(11)
(3) (a)-(11). (b)-(1v), (e)-(111), (d)-(1)

(4) (a)-(1v), (b)-(i11), (c)-(11), (d)-(1)
Options:
61547526797 1
E154752E798. 2
B1547526799 3
61547526800 4

Question Number : 125 Question 1d : 6154756871 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



D0 J|B5en

(a) oo (1) echod
(b) srofho EEen (1) e e?
(c) %Dldﬂvﬁj (iil) SeyosH

(d) =80 780 (iv) ~rard

(1) (a)-(1). (b)-(11). (c)-(111), (d)-(1v)
(2) (a)-(111). (b)-(1v). (e)-(1), (d)-(11)
(3) (a)-(11), (b)-(1w), (c)-(111), (d)-(1)

(4) (a)-(v), (b)-(ii1), (¢)-(i1), (d)-(1)
Options:
C1547E2E797. 1
C1E4752E798. 2
1547526799, 2
1547526800, 4

Question Number : 126 Question Id : 6154756872 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

AP 360 |Fdress NoBodods :

&wSes %ﬁmﬂ@m a)gg :

(1) tiﬁowesm, TEOTRED, &%?Sm, éomﬁém (2) &3{;5&1}, C&oagﬂesm, TR, 50@5&1)

(3) é,igém, T, cﬁoqgﬂém, 50605@3 (4) cén::@ﬂém, TRV, 50605@J, &igém

Options:

1547526801,
E154752E8202.
61547526803,
61547526804,

o LIRS

Question Number : 126 Question Id : 6154756872 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
AGS 360 |FSres NoBodod :

&wSes @;mem a)gg :

(1) tiﬁ@@ﬂesm, TERTH0, &%?Sm, éomﬁém (2) é;igéﬁl}, C&oagﬂesm, TPV, 50@5&1)

(3) &igéem, TR, ctﬁoz-;r%en, 506“5@3 (4) 660@’35&13, TPOTeD, 50005@:1, éuigéw

Options:

61547526801, 1
61547526802, 2
E1547528802. 2
61547526804, 4

Question Number : 127 Question Id : 6154756873 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

ﬁﬁwéﬁ@m@:

(1) 5888, e85, eso7@500, &0°He0 (2) 5D, esor| B0, sTRREND, S5

(3)  es88, IS, esoo|HEN, 07 D0 (4) e BED, esoe| B0, es8, FFEH
Options:

E1547526805. 1
E1547526806. 2
61547526807, 3
61547526808, 4

Question Number : 127 Question Id : 6154756873 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

é@wéﬁﬁ;&m@:

(1) 5588, e85, o7 @500, 8070 (2) 5P, esoo|Peo, STHED, 558

(3) 88, FES, es0° D5, es0°He0 (4) esooBE, s0° &0, 858, FEH
Options:

61547528805, 1
61547526806, 2
61547526807, 3
E1547526808. 4



Question Number : 128 Question Id : 6154756874 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

050 HEIJEDTRY MOB0BOG :

1) Domes DGO, Py BYGH0, &E°YT G, (5% DG
(2) Dored DEGHW, &ET SYgH00, Py SR, (s DY
(B)  doeed GG, |B7es DEGA, Py SHgH0, EE YT SEgH
(4)  &B Y 850, Horen HKigR0, Py B, (Ees SHEgH

Options:

61547526809,
1547526810,
E1547526811.
61547526812,

o IR

Question Number : 128 Question Id : 6154756874 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

0750 HEIJEDTRY OB0BOG :

1) domes DG, Py DG, &Y G, (B DY
(2)  Domes DG, &8 SgH00, Py S, (% DY
(B)  doeed GG, |B7es DEGA, Py SHgH0, EE YT SEgH
(4)  &B Y 850, Horen HKigR0, Py B, (Ees SHEgH

Options:

61547526809,
1547526810,
E1547526811.
61547526812,

o IR

Question Number : 129 Question Id : 6154756875 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



(DD08Es SR 083

(1)  Eomdd D81, Faad), 88906, ESEeTarEH0
(2)  Derdd, 8o, Jo&gerarsnn, §eehd KB
(3)  R&ZeTArsan, EvoHd HB®, Fardd, ©8dods
(4) 98908, EZeTRREH0, §ardd, Eorad S8

Options:

61547526813, 1
61547526814 2
61547526815 2
1547526816 4

Question Number : 129 Question Id : 6154756875 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

(D083 SPer) 243

(1)  Eodd 38, a0, @80, QEEeTarsin
(2)  Frod, e8dods, MESeTarson, Swhd KB
(3)  BOSZeTaRrdan, 5oeHd KB, §5rod, e8d0ds
(1) 98908, DEZETEI, TErdd, STdd 6B

Options:
E154d752EE15.

BE1547526814.
BE1547526815.
B1547528816.

L N

Question Number : 130 Question Id : 6154756876 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



STTOEDTTRY) E‘Jé :

(1)

(3)

(4)

Options:

BRI SREAITCBE RAITen, e3P éﬂ)ééé 53 - A8 QdoReedo, PRI Derdoes® ?{1, m‘vé‘em@é
& =t =

BRI Cd 650}35’5 Eogo dreaeen

BRG 3}%%0&55 ?i:, S P a‘}géﬁé 56 - A'8d Qopwraio, mﬂéwéé Ry PRI

P

By Som BIren, erdes @oﬁwgg Adiren

e ESTEE RaiTren, e DerHdoes: ?{:, 2900085 K)Q)éé?g 58 - A8 Ro|R@eaio, mvé‘w@:e;
&5 = =

Ay I cﬁqﬁé Ege SI°5ren.

eTHNE EATBE RasTen, E?E‘Wééé BPRONCS GyEy So° STaren, e Rydy U - ASD
3

RORTA00, BPHE DeTHoS® N

BE1547526817. 1
61547526818, 2
61547526819, 3
E1547526820. 4

Question Number : 130 Question Id : 6154756876 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
SPROEDTR) e
&

(1)

(3)

(4)

Options:

EPHeS SATBE RaiTeen, e3mnds Rydg 58 - A8 Jodmraho, SRS a0t B, orgeaey
& = ==

BIPRaICH Cﬁq}%’é Hee ¢varen

TH5E a0t D, a3Des By B8 - RS Ropdmrabo, wmeferdy  erRDg

= ==

LSy o= BIRren, eeRNCS mwgg AdiTen

BPHHE EITOE RosTren, BP5E JerdosSt B, s Ry 58 - RA°8D Jodaroo, TogeTy
@ = =

2PODE Lyg So° Srraren.

e ;—.ﬁeﬁmgg RosTeen, mugwéé BP0 Kyy Soo Srharen, RN Myly 56 - AUES

SoRErano, S dervoS® )



BE1547526817. 1
61547526818, 2
61547526815, 3
E1547526820. 4

Question Number : 131 Question Id : 6154756877 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
S’DE}DKQ 28
=%

(1) DBGIEEICE, G506, L20BHEIE, EooiogEd
(2) oG, iﬁ)O‘i}gé}C&J, 0086, JTGTEEICD
(3) Ko8560, Soé, DBGIPGIIC, CboiiJ?SgJ{iéJ

(4) S0&, 085, 5)0&)553633, SDBGIPEIC

Options:

61547526821, 1
61547526822, 2
61547526823 2
61547526824 4

Question Number : 131 Question Id : 6154756877 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
S’DE}DKQ 289 :
22

(1) DBGIEEICE, G506, L20BHEIE, EooiogEd
(2) oG, iﬁ)O‘i}gé}C&J, 0086, JTGTEEICD
(3) Ko8560, Soé, DBGIPGIIC, CboiiJ?SgJ{iéJ

(4) S0&, 085, 5)0&)553633, SDBGIPEIC

Options:

61547526821, 1
61547526822, 2
61547526823 2
61547526824 4



Question Number : 132 Question Id : 6154756878 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

2N 0S D ©OBTYTO (ET°R) HBowHod :

(1) 0GR, ATPSPEY, BRVTPSPAD, 20T
(2) EINITSTED, DI0CETTRD), 20T, AITSTED
(3) DVOLGETRD, BIRITPETA), DTSR, 0T

(4) AJPSPED, DV0BTRD), DO0CHETED, ISP

Options:

61547526825, 1
61547526826 2
E154752E827. 2
61547526828, 4

Question Number : 132 Question Id : 6154756878 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

2OREOS D BoBTyTe [E57°R) HBoBod :

(1) 0GETPED, AIPSPEY, BRVIPSPEY, 0T
(2) EIVITSTE, V0CETED, V0T, AISPe)
(3) VOGP, BIRVTPSTAD, MICSPEY, 0T

(4) ATPSPED, 00T, V0GP, BRI

Options:

61547526825, 1
61547526826 2
61547526827, 2
61547526828 4

Question Number : 133 Question I1d : 6154756879 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



S8 SR 226 :
=

(1)  =doedrioen, Htodarres, SESouen, By T
(2)  wTER, SESAe, HEdarrey, BIREY) T
(3) &Iy TOK5en, TETRTRRIeD, SPEBCkne), Htodrre

(4 TETIRO, BIEy) THOH, S, DT

Options:
E1547526529. 1

E1547526830. 2
E1547526821. 3
B1547526832. 4

Question Number : 133 Question Id ;: 6154756879 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

HBarene $°erR) AL
2

(1)  Fsorrdoe, HESres, SESae, S8 T
(2) g, sESabue, Htodarren, BrEy) TR
(3) &Rty DO, TETTRI, SEA, HEodArre

(4)  wsDERe, BI5Y) e, sPEdciven, Hsodrire

Options:

61547526829, 1
61547526830 2
61547526831, 2
E1S547526832. 4

Question Number : 134 Question Id : 6154756880 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



2O E8E0S R BRI HED 15500 :

(1) BEB - VOB - 5L - By S8)Eee0
(2) 505 - D0Q - Bidyd - égé 583&@?&3
(3) BHH0 ~ BB - DO - 5765 S8BT

(4) D0B) - B - BYY - 5268 SISIALIY

Options:

61547526833, 1
61547526824, 2
61547526835 2
61547526836 4

Question Number : 134 Question Id : 6154756880 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

2P EE0ES R HBIYTo HED (5200

(1) 888 - Jo - 5755 - B IBV)mwen
(2) 5785 ~ 308 ~ BE)D - EJH ISRV
(3) B - BB - J0§ - 578 Y yTren

(4) DOB - BEYD - BYS - 5265 SISV

Options:

61547526833, 1
615475268324 2
61547526825, 5
61547526826 4

Question Number : 135 Question Id : 6154756881 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



SPRFRVEITR) 2063 ¢

(1) DA 5°69, dig D058, S8, IHESBD
Ly L]

(2) S mo;sgm, Lol g_f;sgégm, S&HH 56D

(3) SEGTB, Sdor 562, a}égz.ﬁgaa, deg moé,gm

(4) :};-fagé}gm, SAIr 569, dig ao:;ga}, SEIoiA

Options:

61547526837, 1
61547526838, 2
61547526839 2
61547526840 4

Question Number : 135 Question 1d : 6154756881 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

SPEPROEDTR) 2083

(1) [P 596, g H0IBR), D58, IHESH6D
& L%
(2) I HoHER), DTS, IS8, DA 56D
(] &
(3) SEIoAN Sdrs 5789, ﬂégzsgm, SIS moégm

(4) aﬁagégm, DA 569, dess ﬁo:;gm, SLIoRA

Options:

E1547526837. 1
61547526828, 2
61547526829, 5
61547526840 4

Question Number : 136 Question Id ;: 6154756882 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



808 [3%)p&°D 38 (D.), W&o (r.) TsTge HEYYE VowogeRy HoBoBod :

@) : B0 THTHISD )T JED) BDNE wsEran.

Gr) : oTrsstedsS oMo &osnod Eus.

D) () 9857 ; () 5BHB.
(2 (2) 506 ; () H6se.
3) (), (32) Bo&r 589.

@) (@), Cr) Bor 565%).

Options:

61547526841, 1
61547526842 2
61547526842 2
E1547526844 4

Question Number : 136 Question Id : 6154756882 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

308 3%)p&°D 38 (D.), r¥o (r.) 575 IEYY JowogeRy HoBoBod :

@) : B0 TS D YD D) BDNE wsEran.

Gr) : Tr0TrSseesS” HoNEo &otwod EHof.

D () 9Bse 3 () 5898
2 ()86 ; () H6se.
G) (), (3r) Bocr 5892.

@) (@), () Bocs 56529).

Options:

61547526841, 1
61547526842 2
61547526843 o



E1547526844. 4

Question Number : 137 Question Id : 6154756883 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

@) (@0 GRS, etho [0 g edirvo.

() : HB0re &0 M0 Dot DEDED gl 5°2063.

D (@), Gr) Bokr $585.
2 @), Cr)Bodr 585,
B (D) 5398 ; (o) B850,
@) (@) 9850 ; (i) $BRHB.

Options:

61547526845 1

61547526846, 2

61547526847, 3
E1547526848. 4

Question Number : 137 Question Id : 6154756883 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

@) (@0 GRS, etho [0 g edirvo.

() : HB0re &0 M0 Dot DEDED gl 5°2063.

D (@), Cr) Bor 589.
2 @), Cr)Bodkr 5657
@) (D) 538 ; (o) BBz
@) (@) 9850 ; (i) $BHB.

Options:

61547526845, 1
1547526846 2
E1547526847. 2
61547526848, 4

Question Number : 138 Question Id : 6154756884 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



@) @ ©0& 53T ITRTVE SO ';‘,J-g?fj.

() : B3 DHOTOSEES 300D &I ST

D @), Cr) Bokr 5859,
@) (@), () Bodr 5857
B (2) 5898 ; (i) 985,

@ (9) 3B ; (Br) 5396,

Options:

61547526849, 1
61547526850 2
61547526851, 2
E154752E8852. 4

Question Number : 138 Question Id : 6154756884 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Q) : So|F 5T DTROTVE YD) '33%?3.

() : & DTSR 300D &I SPE.

D @), ) Bodkr 5859,
(@) (D)., Cr) Bokr H65°9).
G (2) 5898 ; (i) 985,

@) (D) 3857 ; (i) $BH8.

Options:

61547526849, 1
61547526850 2
61547526851, 2
E154752E8852. 4

Question Number : 139 Question Id : 6154756885 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



@) B 0%, )8 VSE50M &) HT°E0 T0LT® (875728 HT°E0 DI°BE.

(r) : QBE HoreresS® 58 Jod), 1B B S8,

D () 5390 5260 ; (ir) 5BRA.
@) @®), (r) Bocsr 5802.

@) (@), () Bokr 5859 5°9).
(4 (D) FBH ;5 (o) DB,

Options:
E1547526553. 1

E1547526854. 2
61547526855, 3
61547526856, 4

Question Number : 139 Question Id : 6154756885 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

@) 1 9B B0, )8 VDE50n &) HT°E30 TONT® (27572 HT°E0 DI°B.
() @ [BE YHorereS® 5B Hod), 1B B S8,

D (2) 5896 su0 ; () $B96.
@) ©®), Gr) Bodr 5892.

G (), Gr) Bokr 539 5%
@ () 5399 ; (r) $6s00.

Options:



BE1547526853. 1
61547526854, 2
61547526855, 3
61547526856, 4

Question Number : 140 Question Id : 6154756886 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

(D) : JO%doNo N JBER DéEvoT.

.E

(a°) : RO0VI0N),TEE JBE eI GIT DTN BIP0W ) 5’}&)@3

@ @), ) Bokr 5.
@) (@) 98 ; Cr) 5850,
(3) (D) 38s°¢%0 ; () D6.

@ (@), () Bodkr $565°9).

Options:

61547526857, 1
61547526858, 2
61547526859 2
1547526860 4

Question Number : 140 Question Id : 6154756886 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



(D) : HBEdoNo @ HBELR DG 0T .

(a®) : QOO BEILD JBEEV M GBI NILTOI FIPIOT°E) Sﬁeagg.

@D (@), () Bor $5859.
@) (@) 58 ; Cr) 5852,
(3) (D) 96500 ; (Br) 8.

@ (@), Cr) Bo&r $565°9).

Options:

61547526857, 1
61547526858 2
E154752E8859. 2
61547526860, 4

Sub-Section Number: 2
Sub-Section 1d: 615475305
Question Shuffling Allowed : Yes

Question Id : 6154756887 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (141 to 145)
Cuesticon Label | Comprehiension

1508 SogR) B8 |9%) 080 JSIgrareny ordvod (91-85) :
TP TR IR TP P08 000 ARSoNHy

e DTN G600 Ko Hder) 5D BI00BET

TOE)D AR TP oIS VR EY D) 5ess Slervislovh)

IR0 Ee HOse 206050 Homoan dEgosen

Sub questions

Question Number : 141 Question Id ;: 6154756888 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

& He50 9 snéegoes*‘ma?

(1) 200 0B (2)  SHomw HBIB
(3) arBerrmededea0 (4) 5@;;@?62:&501130
Options:

BE1547526861. 1
B1547526862. 2
B1547526863. 3
61547526864, 4

Question Number : 142 Question Id : 6154756889 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

&8 He50 D POSANS” &0H?

(1) 0B (2) =Ereo
(3) mﬁj"?sﬁbii (4) Lﬂgti
Options:

BE1547526865. 1
B1547526866. 2
G1547526867. 3
61547526868, 4

Question Number : 143 Question Id : 6154756890 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

R0’ DY) BHETOTHON?

(1) P00 (2) e

(3) MEVEIS]A) (4) 28
Options:

61547526869, 1
E1547526870. 2
BE1547526871. 3
B1547526872. 4

Question Number : 144 Question 1d : 6154756891 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



50230’ @083 D37

(1) HHITe20 (2) =Ndra%0
(3)  Xdoomrabo (4) DHrSTHH0
Options:

E1547528873. 1
E1547526874. 2
B1547526875. 3
G1547526876. 4

Question Number : 145 Question 1d : 6154756892 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
& S50 EIDREH D0 S :

3, 5

(1) MO, DD 2) RO, [DEE3

(3) AT°R), DETOR (4) &Boio, D088

Options:

E1547526877. 1
61547526878, 2
61547526879, 5
61547526880 4

Question Id : 6154756887 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (141 to 145)
Juestion Label - Comprehension

1508 SoegR) 989 5% )08 IS graren orofvod (91-95) :

T IR DT TP TPR0B0W0 RS0
e DY 00 Hog Hderer) 5S SHo0BEBI
i{naﬁﬂ%&@ m‘@(} RELAVDIR @:,5355 ﬁoﬁﬁjrﬁ&
IrR0@Ee HOse 56050 Homoan dEgosen

Sub questions



Question Number : 141 Question Id : 6154756888 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

& He50 9 snéegoes*‘ma?

(1) 200 0B (2)  SHomw HBIB
(3) arBerrmededea0 (4) 5@;;@?62:&501130
Options:

BE1547526861. 1
B1547526862. 2
B1547526863. 3
61547526864, 4

Question Number : 142 Question Id : 6154756889 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

&8 He50 D POSANS” &0H?

(1) 0B (2) =Ereo
(3) mﬁj"?sﬁbii (4) Lﬂgti
Options:

BE1547526865. 1
B1547526866. 2
G1547526867. 3
61547526868, 4

Question Number : 143 Question Id : 6154756890 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

R0’ DY) BHETOTHON?

(1) P00 (2) e

(3) MEVEIS]A) (4) 28
Options:

61547526869, 1
E1547526870. 2
BE1547526871. 3
B1547526872. 4

Question Number : 144 Question 1d : 6154756891 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
e 5 |
080" 908 J0eI?

(L DHIe0 (2) RHT%0
(3) A TIPO300 (4) HHS*HH0
Options:

B1547528873. 1
61547526874, 2
E1547526875. 3
E154752687E6. 4

Question Number : 145 Question Id : 6154756892 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
& He550S° EIBREH 700D Joee :

(1) KoE5€), PDoHoR (2)  DoTrR, (DEE
(3) TR, ST (4) &Sofo, D88
Options:

B1547526877. 1
B1547526878. 2
B1547526875. 3
61547526880, 4

Sub-Section Number: 3
Sub-Section 1d: 615475306
Question Shuffling Allowed : Yes

Question Id : 6154756893 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (146 to 150)
Cuestion Label © Comprehension



1508 EDB D50 BB |5%)o80 IS praren oroivoe (96-100) :

e ED DTS GOBEIE

Bo0EES BTN D

20T 5J5° 0ToAR TPy DR
9005 S esEISETED £950:780T°R)

€93)) %)) esTesd B RES” 28);
808 57 B B

B070 SeEdeRs $y5)$08" $cdod

2350y PO DL TS W5 BoreHen
2.5 BE0 60 [HSTOTIED WOBT

B0 H0GE DEreS —— ——— i

Sub questions

Question Number : 146 Question Id : 6154756894 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

&8 508 5087

(1) S50 dEmo 20§ (2) TEER KHISTTSs

(3) 2o do (4 550508 esoasRoinen
Options:

E1547528881. 1
BE1547526882. 2
BE1547526883. 3
61547526884, 4

Question Number : 147 Question 1d : 6154756895 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



“womred 9 omrofl” D08 (D857

(1)  e350D5 52850 (2) |rdd 59850
(3) 5D 8IS0 (4) RaH 50
Options:

E1547526885. 1
B1547526886. 2
G1547526887. 3
61547526888, 4

Question Number : 148 Question Id : 6154756896 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

&5 EIBS” TP 57 Tgo D0TmEen’ 083 JHEH?

(1) |=J23en (2) S0
(3) S}mﬁ{gt{)m (4) aﬁéajnééﬁm
Options:

61547526889, 1
E1547526830. 2
E154752E88391. 3
E15475268392. 4

Question Number : 149 Question Id : 6154756897 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
oS IPVECHTLING oPR 5D DGO a.::sémo :

1) 235°Egno (2) Browd EdTe &igHoo
(3) D Sdee écﬁﬁémo (4) e Do aasémo
Options:

615475268392, 1
E1547526854. 2
E1547526835. 3
B1547526836. 4

Question Number : 150 Question Id : 6154756898 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



&s EDBHSD ‘esgieTen’ BRY ST°D0N0?

ol .r) Al
(1) PO, aﬂ?sgrtieao (2) 2oven, TV
(3) g, 36 (4 DY), g0
Options:

E1547526837. 1
E154752E88598. 2
E1547526899. 3
B1547526900. 4

Question Id : 6154756893 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (146 to 150)
Juestion Label - Comprehension

1508 2B D0 HB |D¥)oHL IS graren orafooe (96-100) :

om— 508 DTS &OREIE

B0EES HNTTONR D

@oTed 52T° 0ToRY By BT
e2005°d esgideare)) 90780570

%) 2 aROETH e3¢ T R0S” I8);
BoB 57 I B

DD SeeRs $y5)$08° HeEdod

2350y PO DD TPEY W50 Boreten
2.8 B0 e (RBSTOTYE 208m

SBEI0 K0T DS ————— ”

Sub questions

Question Number : 146 Question 1d : 6154756894 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



&5 508 Q0087

(1) godye vemoe 2o (2) TS HRSTIS
(3) oot So (4) 5008 esoasRdoi0ED
Options:

61547526851, 1
E1547528882. 2
E1547526883. 3
61547526884, 4

Question Number : 147 Question Id ;: 6154756895 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

61547526885, 1
E1547526886. 2
E15475Z2E8887. 3
E1547526888. 4

Question Number : 148 Question Id : 6154756896 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E154752E8889. 1
E1547526830. 2
61547526831, 3
61547526832, 4

Question Number : 149 Question 1d : 6154756897 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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615475268392, 1
61547526834, 2
E1547526835. 3
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Question Number : 150 Question Id : 6154756898 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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BE1547528897. 1
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